The Association of Corporate Treasurers CPD Exit Test

Capital Markets and Funding

Equity and Venture Finance

Worked Solutions
Question 1  

Your company is contemplating a rights issue to fund a project which you have estimated has an NPV of £100m.  The rights issue would be on a 1 for 5 basis and raise £300m.  The issue price would be 650p, a 15% discount to your current share price of 765p.

Assuming that you can persuade the market that your estimate of NPV is right, what will be the equilibrium price of your company’s shares after the rights issue?

 (a)
638p

 (b)
656p

 (c)
674p

 (d)
692p

 (e)
don’t know

Answer

The right answer is (c)
674p

Issuing new shares at 650p to raise £300m will require 46,153,846 new shares to be issued.  As this is a 1 for 5 issue, there must already be 5 times that number in issue, i.e. 230,769,231 shares.  At 765p, this gives a market cap of £1,765,384,616.

If the market is persuaded of the extra £100m, then the market cap will rise to £1,865,384,616.  The new number of shares in issue will be 276,923,077.  The value per share will therefore be £6.74.

Answer (a) would be right if the market was not persuaded that the NPV figure was right, and assumed a zero value for the new project – a not uncommon event!
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Question 2

Why are convertible preference shares frequently used by external equity investors as the instrument for their equity investment when funding MBOs?


(a)
they can provide a high return


(b)
conversion to ordinaries can give voting rights


(c)
for tax reasons


(d)
for accounting reasons


(e)
don’t know

Answer

The right answer is (b) conversion to ordinaries can give voting rights

As long as results are according to plan the convertible preference shareholders will be happy to stay in the background and let management manage.  If forecasts are not met then conversion can take place (according to individual terms) so that the equity investors can gain control through their voting rights.

There are many other forms of investment which can provide a high return; mezzanine finance, or other forms of equity.  There are no tax reasons for equity investors to prefer convertible preference shares.  The only accounting issue concerns whether the instrument is classified as debt or equity.  As these are equity investments for equity investors, this is unlikely to be of concern.
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Question 3 

You have been charged with reviewing risks associated with your company’s equity portfolio.  Your company was once an international merchant but over many years it has become more of a passive equity investor.  The equity market has recognised this and your rating reflects your status as an investment trust.  During your review you become concerned about the way in which equity investments are bought and sold through independent brokers, most of whom are partnerships.

Which one of the following best describes the risk involved?

(a)
liquidity risk

(b)
credit risk

(c)
replacement risk

(d)
settlement risk

(e)
don’t know

Answer 

The right answer is (d) settlement risk.

The risk is that the partnership may not be able to settle for a particular transaction, particularly if there is a significant time delay between a transaction and its settlement.  At times, brokers in the UK have allowed a backlog to build up, increasing the risk.
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Question 4 

Which of the following is the most important determinant of a company’s cost of equity?


(a)
gearing


(b)
Profitability

(c)
economic environment


(d)
management quality


(e)
don’t know

Answer 

The right answer is (a) gearing

The company’s cost of equity is determined by the risk free rate, the market risk premium and the company’s beta.  Only gearing, of the factors listed, is a determinant of beta.
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Question 5 

The proportion of equity, or internally generated funds, compared with debt in a company’s balance sheet can vary widely.  Which two of the following factors would you judge to be the most important in determining the appropriate proportion of equity?


A
profitability


B
asset intensity


C
risk of incurring losses


D
potential for future growth


(a)
A and B


(b)
C and D


(c)
A and C


(d)
B and D


(e)
don’t know

Answer

The right answer is (c) A and C

The level of equity is determined by the ability to service, i.e. profitable enough to give an equity return rather than a debt return, and by the risk that losses may erode the existing equity.  Thus an advertising agency may be very profitable (in relation to its assets) but may also exhibit significant volatility in its profits as specific contracts are gained or lost.  Conversely a commercial bank generates very low profits (relative to its total assets) but due to its large portfolio of assets and its natural credit caution, is unlikely to make losses which will erode its small capital base.  Perhaps we are unduly swayed by the fact that UK commercial banks’ only loss making period is still in the fairly recent past.
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Question 6 

You are considering the financial implications of a possible acquisition.  The target company is in an industry with an average beta of 1.08 and average gearing (debt : equity) of 30%.  You intend to gear the target up slightly more than that to 40%.

If the target is fairly represented by the industry averages, what will its beta be after gearing up to 40%? (Assume a 30% tax rate).


(a)
1.06


(b)
1.10


(c)
1.14


(d)
1.18


(e)
don’t know

Answer

The right answer is (c) 1.14

The ungeared beta can be calculated as 1.08/ (1 + 30% (1 – 30%)) = 0.8926

Converting this to the new geared beta at the new gearing level:

0.8926 ( (1 + 40% ( 1-30%)) = 1.14

Answer (a) would have resulted from ignoring taxation.
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Question 7 

As your company is cash-rich with no immediate attractive investment opportunities, you are considering a share buy back.  You are considering spending all of your cash (£20 million) plus an amount of debt to buy back half of your issued equity at a cost of £40 million.  At present you have debt, all at floating rate, of £10 million.  Your company’s equity beta has just been measured by an undisputable source as being 0.86.  The tax rate is 30%.

As a first step in considering the buy back you wish to calculate your company’s ungeared beta.  Which one of the following is the correctly calculated ungeared beta?

(a)
0.79

(b)
0.82

(c)
0.94

(d)
0.98

(e)
don’t know

Answer 

The right answer is (c)
0.94

The net debt of the company is negative, it holds net cash.  The beta of cash must be zero – whatever happens to the equity market the value will remain the same!  Thus the value of a cash rich company must be more stable than the equivalent company with debt.  In the formula for gearing and de-gearing an equity beta the relevant level of debt is the net position rather than gross.


(u
=
(g ( 1 +  ( D / E )( 1 – T ))

Thus the formula becomes:


(u
=
0.86 / (1 +((10 – 20)(1 – 30%) / 80)



=
0.94

If the above is ignored and gross debt is used, the ungeared beta given would be answer (a) 0.79.  Answer (d) is the result of ignoring tax.
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Question 8 

You have been asked to make recommendations regarding the acquisition of another company, Target Plc, using equity.  Your company, Predator, has 180 million 25p shares in issue, the market price is 137p.  Target has 80 million 50p shares in issue and their market price is 219p.  You are confident that you can achieve the acquisition by offering a bid premium of 25%, and that you can persuade the market that this valuation is appropriate given the synergies that can be obtained.

Assuming that the offer will be “all equity”, what is the maximum number of shares in Predator which should be offered for each share in Target if your share price is not to fall as a result of the acquisition?

(a)
1.5

(b)
1.8

(c)
2

(d)
2.2

(e)
don’t know

Answer 

The right answer is (c)
2

If the share price is not to fall, the “value per share” after the acquisition must be at least as great as before the acquisition.  Thus the current Predator share price, 137p should be equal to the new value.  Assuming that the market can be persuaded of the value of Target, then the following must be true.

(Market Cap Predator + Bid Value Target) / (Existing Predator no. of shares + (existing Target no. shares * No. new Predator shares per Target share) = Current share price

Bid value of Target
= £2.19p
( 80 increased by 25%




=  £219m

Mkt cap Predator
= £246.6m
(180m ( 137p)

Thus following the above logic,

1.37
=  (246.6m + 219m) / (180m + 80m*x)

     1.37(180 + 80x)
= 246.6 + 219

      246.6 + 109.6x 
=  246.6 + 219

                    109.6x 
=  219

    x 
= 1.998   i.e. 2
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Question 9 

You have decided to buy back 40% of your company’s shares for a price of £1.70p per share.  You intend to raise debt for the purchase.  Your current share price is £1.60.

Using the data below, and assuming that the transaction can be completed on the terms described, what will the share price be after the buy back?

Current share price

160p

No of shares in issue

62.5m

Current debt


£20m

Tax rate


30%

(a)
£2.12

(b)
£2.02

(c)
£1.92

(d)
£1.87

(e)
don’t know

Answer 

The right answer is (d) 1.87

Before the transaction the market capitalisation of the company is £100m equity and £20m debt – thus the entity value is £120m.

Buying back 40% of the equity implies buying 40% ( 62.5m shares = 25m shares. 

If all are bought for £1.70, the cost will be £42.5m, i.e. the extra debt to be raised.  The impact on the entity value will be to increase the tax shield by £42.5m ( 30% = £12.75m.  Thus the entity value will increase by this amount to £132.75m.

Equity value will now be entity value – debt value
=
132.75 – 20 – 42.5








= 
£70.25m

The new no. of shares will be 62.5m less 25m, i.e. 37.5m

Therefore new share price will be £70.25m / 37.5m shares
=
£1.87
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Question 10 

Your company has a beta of 1.1 and a gearing ratio (debt : debt + equity by market values) of 30%.  Currently gilt yields are 6% and your interest cost is 7.3%.  The equity risk premium is 5% and the tax rate is 30%.

At what rate should you discount the pre-interest, taxed cash flows arising from investment projects to extend your existing business?

(a)
7.17%

(b)
9.58%

(c)
10.24%

(d)
11.50%

(e)
don’t know

Answer 

The right answer is (b) 9.58%

The answer is given by calculating the cost of equity using the CAPM and then combining that with the cost of debt to give the WACC.

Cost of equity
=  6% + 1.1 ( 5% 
(using the CAPM)



=  11.5%

(Answer (d))

Cost of debt 
=  7.3% ( (1 – 30%)



=  5.11%

As gearing is 30% debt and 70% equity, 

WACC 
=  (70% ( 11.5%) + ( 30% ( 5.11%)



= 9.58%
Answer (a) is generated by incorrectly assuming that the cost of equity given by the CAPM is pre-tax and reducing the 11.5% for tax.

Answer (c) is generated by not reducing the cost of interest to give a post-tax cost.

Answer (d) is the cost of equity, as noted above.
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Interpretation of Scores

0-4
This score indicates a level of competence below that required for a professional treasurer. Use the resources listed to develop your skills and knowledge base in this topic.  Revisit the test in a few months' time to check your progress.

5-7 
Although you have some knowledge in this area, you should use the list of relevant resources to update yourself so that you get a higher score next time.

8-10
Your score indicates that you are competent in this subject.  The resources listed may be useful if you wish to develop your skills further in this area.  Remember to revisit this test next year to ensure that you have maintained your knowledge at this level.

